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1. Annotations

June 2013

Annotation Meaning
% Development
/ Slash
@ Unclear
[
Benefit of doubt
Consequential or repeated error
x Wrong
[— Major error
Minor error/ mistranslation
Correct point  Double tick = development of a point
Omission mark
Highlight Breathing missing

2. Subject-specific Marking Instructions
Wrong syntax = major error
Omission of key word = serious error

Award 4 marks if one minor error.
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Question Answer Marks Guidance
Content Levels of response
Specimen translations only The passage has been divided [4] All or almost all of the
into 7 sections each worth 4 meaning conveyed (as
marks. agreed at Standardisation)
[3] Most of the meaning
Award up to 4 marks per conveyed
translated section according to [2] Half the meaning
the 4-mark marking grid. conveyed; the rest seriously
flawed
Also award a mark out of 2 for [1] Very little meaning
fluency of English according to conveyed, or isolated words
the 2-mark grid. known
[0] No elements of meaning
1 (@) |i |7zgo tov abdrov ypovov ol Iledomovvnoiotr ot ev 4 | Omission of avtov = minor error | conveyed; no relation to
TS TEVTE KAl ELKOOL VOO, Omission of the = minor error Greek at alll
Around the same time the Peloponnesians in the NB Consequential SITOrS
) . should not be penalised.
tweny-five ships,
- ) e - . Marks for fluency of English
1 TAPACKELVACOUEVOL WS ETL VOAVUOYIQ KAl 4 Many/most = minor error should be awarded as
TPOCTANPOOAVTES VADS TAEIOVAS Mis translation of mAgiovas = follows:
serious error
having prepared/got ready for a sea battle and having [2] Expressed fluently and
manned more ShipS StyllSth, consistently
successful improvements on
i | Wore dAlyw éAddooovas givor adTols TV 4 3 literal ranslation

K ’ -~ ’
AbOnvaiov vedv, opuilovroun kata Eptvedv.

with the result/so that they had slightly fewer ships
than the Athenians, anchored at Erineos.

[1] Occasional improvements
on a literal translation

[0] No or very little
improvement on a literal
translation.
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Levels of response

iv

S —~ ’ T \
ol & Anvaior éx ts NowTaKTov 1pLaKovTo Vool
\ ’ 9 £ 2 -~
Kol TPLOLY EMEMAELOAV AVTOLS.

The Athenians sailed against them with thirty-three
ships from Naupaktos.

Omission of abtols = major

error

\ 3 2. 3 \ ~ ¢ 4 k14
kol ol KopivOior 1o uev npatov novyalov, Ensita
apBévros adrols Tob onueiov,

To begin with the Corinthians took no action, then
when they were given the signal,

Vi

A 4 > 4 2\
émel koupos E00KeL glval, OpuUnoayv Eml Tovs
ABnvaiovs Kol EVAUUAYOLY. KAl YPOVOV QVIELYOV
\ ] 4
roAvv aAAniors.

since it seemed to be the right moment, they bore
down upon the Athenians and they fought. And they
grappled each other for a long time.

vii

v & AOnvaiwv katédv pev ovdsuia, éxta 5¢
nives dmdot éyévovio, suPalldusvor OO TOV
KopwOiawv.

Not one of the Athenian ships was sunk, but seven
were rendered unseaworthy as they had been
rammed by the Corinthians

éuPaiiopevon =Attacked =
minor error (must indicate some
sort of damage to be credited)

danlol £yévovro = damaged =

minor error

(b) | (i)

There is no pursuit (1); no men (1) from either side (1)
are taken. (1)
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Question Answer Marks Guidance
Content Levels of response
(ii) | Repeated negative in o0Seuia, 00SE, and oLSETEPWV. 2 | All three needed with explanation
for 2 marks
Greek words only = (1)
(c) They had been fighting (1) near the shore (1). 2
(d) | (i) | The Corinthians think they’ve won (1) if they don't 4
actually get [soundly] beaten (1); the Athenians think
they've lost (1) if they don’t win [decisively] (1).
(ii) | Overall parallel structure of clauses, the main points 4 1 per point properly made

being:

- ol T ’ABnvaior ... of t€ ... KopivOiol, nynoavro ...
gvoutbov; kparelv ... nooactat: all three contrasted
against each other, and all in same place in clause;
but variatio in the verbs. (May well be made into more
than one point.)

- &l un ... én ov ... variatio.

- TOAD ... TOAD.

- ékpatobVTo ... évikwv: balance and final position.

(e)

(i)

genitive because of kpatéw.

(ii)

Genitive absolute

Accept suitable explanations

(f)

(i)

anoniéw;

(ii)

Totnut
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Question Answer Marks Guidance
Content Levels of response
2 i The Spartans ordered Callicratidas to sail to Lydia to 5 Please note that any Greek [5] All or almost all correct
obtain money and ships from Cyrus. vocabulary/syntax which (as agreed at
_ . _ - gdequately trar_vs_/ates the English Standardisation)
Specimen translation — other renderings possible is acceptable: if in doubt, [4] Minor error(s) in
examiners should check Liddell id At
ol Aakedatpdéviol ékérevoar Tov KalkikpaTidav and Scott, and/or a good SECUENCE Ol Syne
mhedoat Tpos Avdlav os Tod Kipou xpipnatd Te grammar (such as Smyth: not [3] More serious errors in
Kal vats KTnodpevov. ‘beginners” Greek text books); accudeqce or syntax
specific points will in any case be | [2] Accidence/syntax
ii When he reached Cyrus’ house, he asked the slave 5 discussed at standardisation. seriously faulty, but not
who was guarding the door to announce The passage has been divided \E:I;ffl\.l/t;jr:nea” roportion of
ddbLképevos ovv mpos THv Tod Kipov olkiav Tov info Bisections, sach worive i /
dovAov TOoV TNV BUpav dvhacoovTa NTNOEV : : . 01N isable relati
dyyéNeLy translated section according to [0] No recognisable relation
Y the 5-mark marking grid. to the English.
i | that Callicratidas had arrived and wished to speak to 5 Asware miarks for shylatoa NB Consequential arrors
Cyrus. . .
maximum of 7. should not be penalised.
0TL KGMLKPG’T@G? ddLkopevos TG Kipo Of the remaining 3 marks, 2 are
SLaléyeobat ebedot. to be awarded for breathings:
iv | The slave said, ‘Stranger, Cyrus cannot see you now: 5 | [2] All correct, or one error

he is drinking.” ‘Then | shall wait here’, Callicratidas
replied.

0 8¢ 8odNos “0 Eéve,” €dm, “O Kpos ov ge viv
M w2

? ~ 7 ’ ’ 7 ) ~ 1
L€ty dlvaTal:  Tmivel ydp "€vBAde ovv PeVd,

amekpivaTto 0 Ka\\ikpaTtidas.

[1] 2 or 3 errors
[0] More than 3 errors.

The final mark is to be awarded
for use of connectives:

[1] No more than one omission
(not counting the first sentence)
[0] More than one omission




June 2013

F374 Mark Scheme
Question Answer Marks Guidance
Content Levels of response

v | But when the slave laughed and said he was a fool, 5

he went away and came back later.

Tob 8¢ 8oUNoU YeEAdTaVTOS Kdl ELTOVTOS OTL

LOpOS €ln, ame dov UoTepor ETavildev.
vi | When he was again refused admittance, he returned 5

to his ship,

avlLs pévTol eloieval kwlvbels Tpos THv vadv

Emavij\dev
vii | after swearing that he would do everything to make 5

peace amongst the Greeks

opéoas mdvta Totqoewy tva épryny €v Tols

"EX\nowv moinTat
viii | so that in future they would fight against the Persians, 5

and not each other.

(va TONOLTOV TPOS TOUS TéPTds ILAXOLVTO PLAANOV

N TPOS ANHAOUS.
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3 (a)

Plato
Use of language to enliven account of allocation of diets,
such as polyptoton and variatio in:

dAdois aAdas

T01S UEV €K yhs Poravnv

dAlois 8¢ Sévdpwv kapmods
tois ¢ pilas

gon & ois ESwkev givar podnv ...
and of their methods of reproduction:

SN _
Kol TO1S LEV OALyoyoviay mpoonye

- \ ’ 7’
101s & QVAALOKOUEVOLS LTTO TOOTWV moAvyoviay.

51 signals something significant:

which is that Epimetheus was o0 mavv t codos; humour in
this and in £Aafev adtov KA.

But his foolishness has serious consequences: Aotrov o1

)

aKooUNTOV ... AVOPOT®V YEVOS.

He doesn’t know what to do:
nndper reinforced by amopovvL.

Prometheus sees what a mess he’s made: pointed up by
contrast and build-up of similarly formed words: 7a pev aAia
Coa ... OV 58 dvOponov yuuvov Te Kol avumodnTov Kal
doTpwToV Kal domAov.

Urgency of the appointed day being at hand: aropig now
besets Prometheus, but he has a plan; 7op repeated to
underline its importance.

25

Answers must be marked
using the level descriptors
in the AO1 10-mark marking
grid and the AO2 15-mark
marking grid at the end of
the mark scheme, taking
into account QWC when
placing the answer within
the band.

The following points are
indicative and offer question
specific guidance.

AO1

Level 5: 9-10
Level 4: 6-8
Level 3: 4-5
Level 2: 2-3
Level 1: 0-1

AO2

Level 5: 13-15
Level 4: 9-12
Level 3: 6-8
Level 2: 3-5
Level 1: 0-2
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Question Answer Marks Guidance
Content Levels of response
Balanced clauses to sum up, with short one to end:
™V HEV ... TV OF ...
nv yap mapo. @ Al.
(b) Plato 25 | Answers must be marked AO1
Imagine a city which did not regard itself as constituting a using the level descriptors | Level 5: 9-10
community unless everyone was a flute-player, and knew in the AO1 10-mark marking | Level 4: 6-8
about flute-playing: the attitude to flute-playing would be like grid and the AO2 15-mark | Level 3: 4-5
that elsewhere to justice. Good flute-players would not marking grid at the end of Level 2: 2-3
necessarily engender good flute-playing children; but even the mark scheme, taking Level 1: 0-1
incompetent flute-players would be good at it compared with into account QWC when
outsiders. placing the answer within AO2
the band. Level 5: 13-15
Kol ToLTO Kal 1810 Kod STUooiq Level 4: 9-12
nos mavTo The following points are Level 3: 6-8
Kal 8510a0KE Kol ETEMANTTE TOV U1 KAADS avAoLVIA, indicative and offer question | Level 2: 3-5
specific guidance. Level 1: 0-2

\ \ rd ’/ 4
Kot pun epbover TovTOL
TOV SIKALOV KOl TOV VOUIL®V
oipon personal opinion
1 ... SIKAOoOVN Kod apeT:
nas wavl npofvums
Aéyer kai Sidaokel
Kol ta Sikouol Kal o VO
-~ ’ 9 4 4 9 (4
... maoav rpobuuiay kat agboviav giyopev ariniovs
Sidaokelv,
b4 b4 > 4 . .
oigt av 1 ... ® Yakpares reminder of interlocutor
TOV ayaddv aOANTdv ayofovs adAntas Tovs VELS
’ N ~ > 9 o .
yiyveohou 1 1@V ¢pavdwv; oluot eV ob personal opinion
again
b4 ’ (4
aAda Otov ETuyev O DOS EDPLECTATOS YEVOUEVOS EIS
abAnotv, obtos dv EAAGyos NOENON,
oL \ ;] 7 9 7
0710V O¢ aPuNs, AKAENS

Specific verbal and stylistic
points might include the
following (by no means all
need be referred to, and
other valid points should be
rewarded):
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Content Levels of response

TOAAdKIS UEV Ayafob aOANTOL dabAos av amépn,
noAddkis & Av pavlov ayados
QAN oDV adAnral v’ Av mdvtes noav ikavol
s TPOS TOLS ISIATAS Kol UNSEV AVANCEWS ENALOVTAS.

4 |(a) Herodotus 25 | Answers must be marked AO1
Several times emphasises his personal confidence; points out using the level descriptors Level 5: 9-10
the strategic advantages of the situation for the Greeks; in the AO1 10-mark marking | Level 4: 6-8
reminds them of their women and children on Salamis; grid and the AO2 15-mark Level 3: 4-5
fighting here will keep the Persians out of the Peloponnese; marking grid at the end of Level 2: 2-3
this and other places specifically mentioned, for the benefit of the mark scheme, taking Level 1: 0-1
Peloponnesians (et al) present; emphasises that reason into account QWC when
suggests that they will win there; the gods help those who placing the answer within AO2
help themselves. the band. Level 5: 13-15
S T , Level 4. 9-12
nv ¢ 1o yw Acyw mouons The following points are Level 3: 6-8
roqa5e LV OURDIOL JPTand EUPTIOStS” L, . indicative and offer question | Level 2: 3-5
TPOTA UEV EV OTEVQ OVUPAALOVTES VILOL OMYNOL IPOS specific guidance. Level 1: 0-2

oAAAS

Nv 1a olkdto £k ToD mOAEuoL gxfaivn

TOAAOV KPATIGOUEY

TO Yap €V OTEIVO VALUAYEELY TPOS NUEDY ECTL,

gv eDpLYWPIN OE MPOS EKELV@V

abnis 8¢ Talauls neptyiveton

s TNV NIV OIEKKELTOL TEKVOL TE KO YOVAIKES

Kol LEV Kal TOdE v adTolol EVECTL, TOD Kol mepLéyeode
uaiioro

Opolws avtod te uévov mpovavuayncsts Ielomovviioov
kol 1pos 1 ToBu®d, o0dé opeas, el mep €D gpovéers,
aéeis ém v IleAonovvnoov.

nv 8¢ ye ta &y EAniCm yEvnral Kol VIKIOWUEV TTOL
Viuol,
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k4 [ -~ > o 9 \ £ e ’
ovTE Vv €5 Tov loBuov mapecovtar ot BapPopor
oUte mpofnooviau eKAoTEP® TS ATUKNS
aniool te 0VSEVL KOOU®

’ [ 4 r ~ \ 9 ’ \
Meyapoiol te kgpdaveouey nePLEOLOL Kol Alylvn Ko
Zalapvi,

&V TN MUV Kau ASy10v éott TV ExOpdv katomepOe
yevéobou.

e / X ’ 3 ’ ¢ A 2 7
OLKOTOL LLEV VDV LOLAEVOLEVOLOL AVOPOTTOLOL WS TO EMTAY
£0€AeL yiveohau

\ \ 9 ’ ’
un S¢ oikota Povlsvouevorot

2 9 14 2 \ e \ ’ A \
ovk €0glel oLIE O Be0S MPOCYWPEELY TPOS TUS
avOpornias yvouaos.

e 7 b4
WoaVTWS olysobat

Details of location:
s 08 dpa pedyovtas yiveohou ths alauvins Kota to
1pov AOnvains Xkipados

(b) Herodotus 25 Answers must be marked AO1
The question of Adeimantos’ and the Corinthians’ loyalty is using the level descriptors Level 5: 9-10
clearly an issue in the Salamis narrative; Herodotus makes in the AO1 10-mark marking | Level 4: 6-8
him prominent in this account: Adsiuavrov first word; stated grid and the AO2 15-mark | Level 3: 4-5
emphatically, and early, that Aéyovor AOnvaior: and the marking grid at the end of | Level 2: 2-3
account is wholly in indirect speech, distancing Herodotus _the mark scheme, laking Leyel 150

’ ‘ into account QWC when

Dramatic and emphatic words throughout: placing the answer within AO2
avTiKa KOT Opyds , OS CUVEULCYOV Al VEES the band. ::3:: 2 ;3'1';5
g’fﬂﬂa}/ EVIQL T& KOl UTTEp dsicavra , The following points are Level 3: 6-8
Tat loTio agpapevoy olyeotat gevyovra , indicative and offer question | Level 2: 3-5
16ovras d¢ tovs Kopivbiovs v otparnyido gsvyovoav specific guidance. Level 1: 0-2

10
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Sudden appearance of ship: its divine character insisted on:
TEPITITTELY OPL KEANTL 98{11 mounn

TOV 00TE TéUWaVTH dpavivar oLSEVA

olte T TV Qo ThS oTpaTiis EI5001 MPoopEpecaon ToloL
KoptvBioiot

e 8¢ ovuPfdAdoviar eivar Ogiov 10 mENyUA.

@S YO Ayyob yevéohal TdV VEDV, TOVS GO TOD KEANTOS
Aéyev tade

ASeipavte (prominent again, and addressed in direct, and
evocative, speech): o0 LV amootpéyas tds véas s puynv
opunoat karampodods tovs “EAAnvas: ol 8¢ kal S1) ViKaot
000V adTol NPAOVTO EMKPATNOAL TOV EXOPDV.

Adeimantos still not convinced: amotée yap tov
ASeiuavTov: so adns tade Agyev.

What will happen to them if he doesn't turn back: arol oiol
TE €18V AyOpEVOL OUNPOL ATOOVIIOKELY, NV UT] VIKOVTES
paivovral ol “EAAnves. So ...

oUtw 81 anooctpéwavta v véa adTtov TE Kol TOUS
dAdovs e’ éEgpyacuévoiol EADELY Es TO otpatTomESOV.

Actually it isn’t as simple as all that, except to the Athenians:
tobTovs eV Totadm datis Exel Lo AOnvaiov, oL ugviol
avrol ye KopivOior opoloygovaot, AL v mparoiol opsas
avtods Ths vavuayins vouilovot yevéoou

and in fact ...
Laptupést 5¢ o kai 1 aAAn ‘EAAds. (very emphatic)

11
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APPENDIX 1
Candidates are expected to demonstrate the following (in the context of the content described).

AO1 Demonstrate Knowledge and Understanding

. recall and deploy relevant knowledge and understanding of literary, cultural, material or historical sources or linguistic forms, in their
appropriate contexts.

AO2 Analysis, Evaluation and Presentation

. (a) analyse, evaluate and respond to classical sources (literary, cultural, material or linguistic) as appropriate;
(b) select, organise and present relevant information and argument in a clear, logical, accurate and appropriate form.

QCA guidance now requires the marks awarded for AO2b to be fully integrated within AO2 as a whole.
The QCA Guidance stipulates that all three strands of QWC must be explicitly addressed — hence in the AO2 Marking Grid the presence of bullet
points 3-5.

There are no separate weightings for AO2a and AO2b but, in assigning a mark for AO2, examiners should focus first on AO2a (i.e. bullet points 1
and 2) to decide the appropriate Level. They should then consider the evidence of QWC to help them decide where within the Level it is best to
locate the candidate’s mark. Other evidence, for example a stronger showing on the analysis than on the evaluation strand of AO2a, will also inform
an examiner’s decision about where to locate the mark within the Level.

12
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Marking Grid: AO1

Recall and deploy
relevant knowledge
and understanding of
literary, cultural,
material or historical
sources or linguistic
forms, in their
appropriate contexts

Max. mark
and
mark ranges

Characteristics of performance

10

Recall and application of subject knowledge;
Relevance to question/topic;

Understanding of sources and evidence;
Awareness of context.

Level 5

9-10

Specific factual knowledge, selected with care;

Fully relevant to the question;

Well supported with evidence and reference where required,
Strong awareness of context as appropriate.

Level 4

Generally well chosen factual knowledge;

Relevant to the question;

Usually supported with evidence and reference where required,
Awareness of context as appropriate.

Level 3

4-5

Some factual knowledge, not always well chosen;

At least partially relevant to the question;

Some supporting evidence and reference where required,
Limited awareness of context.

Level 2

Restricted selection of factual knowledge, possibly including some inaccurate detail;

Little evidence of relevance to the question;
Occasional use of appropriate supporting evidence;
Context occasionally or very superficially indicated.

Level 1

0-1

Work in this band may meet some of the criteria for Level 2, but on balance falls below the standard
defined for the higher level; alternatively, work in this band will be too inadequate, inaccurate, inappropriate
or irrelevant to justify any credit in a higher level.

13
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Marking Grid: AO2 (a and b)

(a) Analyse, evaluate
and respond to
classical sources

(b) Select, organise
and present relevant
information and
argument in a clear,
logical, accurate and
appropriate form

Max. mark
and
mark ranges

Characteristics of performance

15

Analysis;

Evaluation and response;

Organisation and use of technical vocabulary;
Control of appropriate form and style;
Accuracy of writing.

Level 5

13-15

Perceptive, well supported analysis leading to convincing conclusions;

Very well balanced evaluation based on clear engagement with sources/task;

Argument incisive, very well structured and developed; technical terms accurately and effectively used;
Sustained control of appropriate form and register;

Legible, fluent and technically very accurate writing.

Level 4

9-12

Careful and thorough analysis leading to generally sound conclusions;

Balanced evaluation based on clear engagement with sources/task;

Argument well structured and developed; technical terms accurately and effectively used,
Good control of appropriate form and register;

Legible and technically accurate writing, conveying meaning well.

Level 3

6-8

Attempts at analysis leading to some tenable conclusions;

Limited evaluation but some evidence of engagement with sources/task;

Argument coherent if cumbersome or underdeveloped; some technical terms accurately used,
Limited control of appropriate form and register,

Legible and generally accurate writing, conveying meaning clearly.

Level 2

3-5

Occasional evidence of analysis gesturing towards acceptable conclusions;

Very limited evaluation or evidence of engagement with topic/task;

Argument coherent even if very cumbersome or underdeveloped; simple technical terms used
appropriately;

Very limited control of appropriate form and register,

Legible and generally accurate writing, clarity not obscured.

Level 1

Work in this band may meet some of the criteria for Level 2, but on balance falls below the standard
defined for the higher level; alternatively, work in this band will be too inadequate, inaccurate, inappropriate
or irrelevant to justify any credit in a higher level.

14
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